INGILIZCE Sinif-12

KONU  YDT - CIKMIS SORU COZUMLERI

SOR ULAR

1 - 3. sorularda, verilen ciimleye anlamca en yakin olan ciimleyi bulunuz.

1 As tourist numbers
increase around the
world, so do the types
of activities they
choose to undertake
during their trip.

A) Tourists can now
participate in a wide
range of activities
during their trip, which
has boosted their
numbers throughout
the world.

B) Tourists have
been increasing in
number throughout
the world, and
accordingly, the

needs.

E) Tourists, whose
numbers are increasing
throughout the world,
believe that there is
a sufficient range of
activities to do during
their trip.

COzUM: A sikkindaki
“a wide range of”
sifatini karsilayan bir
yapi soru kéklinde
yoktur. C sikkindaki
“dramatically” zarfini
karsilayan bir zarf soru
kékinde yoktur. D
sikkindaki “must be”
yapisini karsilayan bir

2 The process of genetic
engineering itself poses no
danger to animal welfare, but
the genes that are removed
or added can have negative
effects, depending on what
they are.

A) What threatens an
animal'’s health is not genetic
engineering in which some
types of genes are omitted,
but the ones in which certain
genes are added.

B) Depending on the genes
that are omitted or added,
genetic engineering may have
harmful effects and threaten

threaten an animal’s health,
the types of genes omitted
or added may eliminate any
probable harmful effects.

D) No matter what types of
genes are omitted or added,
genetic engineering may lead
to harmful effects threatening
an animal’s health.

E) Genetic engineering may
threaten an animal’s health
only if the genes omitted or
added have harmful effects.

COzUM: Soru kékiinde
genetik mihendisligi
surecinin hayvanlarin iyiligine
hicbir zararn olmadigini ancak

genlerin
hayvan

net olarak
soyledigi icin

sikki, eklenen

elenir, C sikki

eklenen ya da

cikarilan genler

tehditleri ortadan

kaldirabilir dedigi icin,

D genetik miihendisligi
eklenen ya da cikarilan

tiirleri g6zetmeksizin hayvan
saghginda tehdide yol acabilir
dedigi icin, E sikki ise soru

saghgina tehdit
olusturdugunu

an animal’s health, though the
process itself is safe.

Q) Although genetic
engineering does not directly

ne olduklarina bagh olarak
eklenen ya da ¢ikarilan
genlerin negatif etkisinin
olabilecegini soyliyor. A

kokiindeki ilk ctimleye dair
bir bilgi bulundurmadigi igin
elenir. Dolayisiyla B sikki
dogru cevaptir.

anlam soru kéktnde
yoktur. E sikkinda
"belive” , "sufficient”

activities they prefer to
do during their trip are
more varied.

C) The large variety
of activities that
people want to take
part in during their
trip has dramatically
increased the number
of tourists in many
parts of the world.

D) Because tourist
numbers have been
increasing all over
the world, activities
offered to them during
their trip must be
increased to meet their

kelimelerini karsilayan
anlamlar soru kékinde
yine mevcut degildir.

B sikkinda ise soru
kékundeki “as” i anlam
olarak B sikkindaki
“accordingly”, soru
kokindeki “the types
of activities they
choose to undertake”

i “the activities they
prefer to do” yapisi
karsilamaktadir,
dolayisiyla dogru cevap
B sikkidir.

3 The learning of culture is an integral
part of language education because
culture dramatically influences how
people speak in everyday interaction.

A) Everyday interaction seems to be
affected by culture to a great extent,
which, in turn, affects how culture is
taught in language education.

B) Language education, where the
way people of a certain culture speak
in their routine activities is taught,
significantly contributes to the
learning of culture.

C) Culture largely determines
the norms of speaking in everyday
interaction, so the learning of culture
is perhaps the most important aspect
of language education.

D) Given that culture substantially
affects the way people speak in
daily communication, the learning
of culture cannot be separated from
language education.

E) Learning a language means
learning the culture of that language;
that is, language education also helps

people speak in a particular language
according to cultural norms.

COZUM: A sikki “seems” kelimesini
karsilayan bir anlam soru kokiinde
olmadigi igin, B sikki soru kokiiniin
1. cimlesine dair bir restatement
bulundurmadigi icin, C sikki “the
most important aspect” yapisini
karsilayan bir anlam soru kokiinde
olmadigi icin, E sikki ise “Learning
a language means” gibi bir tanimin
soru kokiinde olmadigi i¢in elenir.
Dolayisiyla dogru cevap D sikkidir.




